

Multispectral Image Denoising Based on Non-local Means and Bilateral Filtering

Xueyan Zhen¹, Ning He^{2(\Big)}, Xin Sun², and Yuqing Zhang¹

 ¹ Beijing Key Laboratory of Information Services Engineering, Beijing Union University, Beijing 100101, China zhen15811114253@163.com, zyuqing1104@163.com
² College of Intellectualized City, Beijing Union University, Beijing 100101, China xxthening@buu.edu.cn, Sunx5232@163.com

Abstract. Multispectral images are obtained by taking multiple images of the different wave bands of the same target, which provides a more comprehensive and clearer description of the scene. However, in practice, multispectral images are always degraded by various types of noise. In this paper, an image denoising method based on non-local means and bilateral filtering is proposed. The method uses the non-local means algorithm to denoise the image, and then uses the bilateral filter to enhance it. The proposed method is compared with the BM3D denoising algorithm, non-local means algorithm and bilateral filtering. The experimental results show that the proposed method not only improves the visual effect but also the value of structural similarity and feature similarity.

Keywords: Multispectral images · Non-local means · Bilateral filtering BM3D

1 Introduction

The Multispectral images can provide more information about real scenes. However, in reality, multispectral images usually contain some degree of noise because of the external conditions, which can adversely affect the subsequent processing.

Xie et al. proposed a new denoising method based on tensors that considers the two intrinsic properties of multispectral images, namely, spectral global correlation and spatial non-local self-similarity [1]. This method is superior to other algorithms that only consider an intrinsic characteristic. Peng et al. proposed a method for multispectral image denoising using an optimized vector bilateral filter. The parameter optimization program is based on Stein's unbiased estimation [2], and the optimized vector bilateral filter provides improved denoising performance on multispectral images. Scheunders proposed a multispectral image denoising technique using inter-band correlation [3] in which redundant wavelet transform is applied and denoising is applied by thresholding wavelet coefficients. The technique was shown to outperform single band wavelet thresholding on multispectral images. Dabov et al. [4] proposed the 3D block matching (BM3D) algorithm, which is an algorithm with good denoising performance. However, when BM3D is used to denoise multispectral images, the image distortion is serious,

[©] Springer Nature Singapore Pte Ltd. 2018

B. Huet et al. (Eds.): ICIMCS 2017, CCIS 819, pp. 384-391, 2018.

https://doi.org/10.1007/978-981-10-8530-7_37

and the original structure of the image cannot be well maintained. Buades et al. [5] proposed the non-local means (NL-means) algorithm using the idea of neighborhood average denoising, and the restored pixel is the weighted average of all pixels in the image. When the NL-means algorithm is used to denoise the multispectral images, the image can keep its original structure better, but the residual noise is increased.

Hence, to reduce the residual noise of the images and maintain image edges, this paper presents an image denoising method based on both NL-means and bilateral filtering. The method uses the NL-means algorithm to denoise the image and then uses bilateral filtering to filter it. The experimental results show that the visual effects and image quality are improved.

2 Image Denoising Based on NL-Means and Bilateral Filtering

The BM3D algorithm is currently one of the best image denoising algorithms available. However, when BM3D is used to denoise a multispectral image, the result contains a noticeable fuzzy region. The disadvantage of the NL-means algorithm is that a high level of residual noise will remain in the image after denoising, especially in the edges of the image. To further improve the image quality, this paper presents a denoising method based on NL-means and bilateral filtering. First, the image is denoised by NL-means, and the initial denoised image is obtained. Then, the image is further denoised by bilateral filtering.

2.1 Obtaining the Initial Denoising Image Using NL-Means

Although the non-local algorithm uses neighborhood average denoising theory, its neighborhood range is non-local, that is, not limited to the target pixel as the center of the neighborhood, and image blocks are used to compare the similarity of the target pixel.

The NL-means algorithm [6] is as follows: if the noise image is $v = \{v(i) | i \in I\}$ and the image after denoising is NL[v], then the gray value for pixel *i* can be calculated as follows:

$$NL[v](i) = \sum_{j \in I} w(i,j)v(j) \tag{1}$$

where w(i, j) represents the degree of similarity between two image blocks centered on pixel *i* and *j*, calculated using:

$$w(i,j) = \frac{1}{Z(i)} \exp(-\frac{||v(N_i) - v(N_j)||_2^2}{h^2})$$
(2)

$$Z(i) = \sum_{j} \exp(-\frac{||v(N_{i}) - v(N_{j})||_{2}^{2}}{h^{2}})$$
(3)

where, Z(i) is the normalization factor, $v(N_i)$ is the gray scale vector of the corresponding window centered on pixel *i*, *h* is the filter smoothness parameter, and the value of w(i,j) is between 0 and 1.

2.2 Further Denoising Using Bilateral Filtering

The bilateral filter is a non-linear filter designed based on the analysis of Overton et al. and classical Gaussian filtering algorithm [7]. It has non-iterative, local, and simple features.

Bilateral filtering not only considers the proximity of space, but also the similarity of gray scale relations. Using a non-linear combination of the two, the bilateral filter obtains a smooth image [8]. The formula is as follows:

$$\hat{I}(x,y) = \frac{\sum\limits_{(i,j)\in\mathcal{M}_{xy}}\omega_s(i,j)\omega_r(i,j)I(i,j)}{\sum\limits_{(i,j)\in\mathcal{M}_{xy}}\omega_s(i,j)\omega_r(i,j)}$$
(4)

$$\omega_s(i,j) = \exp(-\frac{|i-x|^2 + |i-y|^2}{2\sigma_s^2})$$
(5)

$$\omega_r(i,j) = \exp(-\frac{|I(i,j) - I(x,y)|^2}{2\sigma_r^2})$$
(6)

where \hat{I} is the filtered image, $M_{x,y}$ denotes the $(2N+1) \times (2N+1)$ spatial neighborhood pixel set centered on (x, y), I(x, y) denotes the center point pixel value of M(x, y), I(i,j) denotes the pixel value at (i,j) in $M_{x,y}$, $\omega_s(i,j)$ is the spatial proximity factor, $\omega_r(i,j)$ is the gray level similarity factor, and $\sigma_s \sigma_r$ are filtering parameters. If we assume that $\omega(i,j)$ is the weight coefficient, then $\omega(i,j) = \frac{\omega_s(i,j)\omega_r(i,j)}{c}$, where c is a constant.

A high level of noise remains in the image when NL-means denoising is used, and bilateral filtering can effectively reduce the image noise and while maintaining the image edges. Combining the two methods for image denoising can achieve a good denoising effect.

SSIM is a reference image quality evaluation index that measures the brightness, contrast, and structure [9]. FSIM is an image quality evaluation algorithm based on the underlying features [10]. The performance of the algorithm is evaluated using SSIM and FSIM values.

3 Experimental Results and Analysis

All experiments in this paper were simulated by adding Gaussian white noise with standard deviations of $\sigma = 10$ and 20 to real images. The performance of the algorithm is evaluated using subjective evaluation and objective SSIM and FSIM values. In this



Fig. 1. Original images used in the experiment.

paper, we compare the proposed method with the BM3D algorithm, NL-means algorithm, and bilateral filtering. Their parameters are set as follows. The BM3D algorithm uses an 8×8 fixed size image block. The NL-means algorithm search window radius is set to 5, its similarity window radius is set to 2, and its smoothing parameter is set to 10. The bilateral filtering template radius is set to 8. These parameters are the optimal values obtained after a large number of experiments. For this study, we use multiple images for testing. Figure 1¹ shows the original images used in the experiment. Tables 1 and 2, respectively, show the performance evaluation results for noise levels of $\sigma = 10$ and $\sigma = 20$ for each of the four methods.

We choose two images, "balloons" and "peppers," to discuss in detail. Figure 2 shows a balloon noisy image where $\sigma = 10$, and Fig. 3 shows the image after denoising using the proposed method. For further comparison, peppers images corrupted by noise are processed using the BM3D algorithm, NL-means algorithm, bilateral filtering, and the proposed method. Figure 4 shows the noisy image with $\sigma = 10$, and Fig. 6, shows the results after all methods have been applied. Table 1 shows the resulting values of the

¹ http://www1.cs.columbia.edu/CAVE/databases/multispectral.



Fig. 2. Noisy image



Fig. 4. Noisy image ($\sigma = 10$)



Fig. 3. Image after denoising



Fig. 5. Noisy image ($\sigma = 20$)



Fig. 6. Images after denoising using (left to right) BM3D, NL-means, bilateral filtering, and the proposed method ($\sigma = 10$).

performance evaluation metrics for the four methods for all images. Figure 5 shows the noisy image at $\sigma = 20$, and Fig. 7 shows the results after all methods have been applied.

Moreover, Table 2 shows the resulting values of the performance evaluation metrics for all four methods. Subjectively, the proposed method obtains a clearer image



Fig. 7. Images after denoising using (left to right) BM3D, NL-means, bilateral filtering, and the proposed method ($\sigma = 20$).

	SSIM	FSIM	SSIM	FSIM	SSIM	FSIM
	Balloons		Peppers		Strawberry	
BM3D	0.998618	0.989710	0.996654	0.986546	0.994613	0.991211
Bilateral filtering	0.999682	0.990189	0.999027	0.986816	0.999245	0.995256
NL-means	0.756735	0.948691	0.763018	0.967027	0.761760	0.968309
Proposed method	0.999949	0.993487	0.999966	0.967027	0.999590	0.993403
	Lemons		Face		Sushi	
BM3D	0.999209	0.988221	0.997708	0.994010	0.999146	0.947712
Bilateral filtering	0.998936	0.995785	0.998935	0.996355	0.999002	0.985050
NL-means	0.755789	0.966747	0.758137	0.964739	0.737577	0.960536
Proposed method	0.999948	0.994115	0.999928	0.995318	0.999970	0.975081
	Toy		Sponges		Dog	
BM3D	0.998605	0.997111	0.999455	0.989820	0.999445	0.997021
Bilateral filtering	0.999359	0.996933	0.999561	0.991859	0.998737	0.997889
NL-means	0.793203	0.973994	0.759860	0.973994	0.778577	0.972676
Proposed method	0.999962	0.996706	0.999966	0.994348	0.999982	0.997550
	Superballs		Painting		Feathers	
BM3D	0.999133	0.980010	0.999667	0.993603	0.999112	0.994401
Bilateral filtering	0.998808	0.993517	0.999286	0.994794	0.999234	0.996049
NL-means	0.741390	0.966301	0.785226	0.969749	0.783850	0.973148
Proposed method	0.999970	0.989861	0.999826	0.992659	0.999932	0.995031

Table 1. Performance evaluation of the four methods for $\sigma = 10$.

with less noise. Moreover, the values of the objective evaluation metrics are also higher. Therefore, this method is superior to the other three at removing noise and preserving edges. The results of the two experiments show that when σ is small, the effect of this method is better. When σ is large, the denoising and edge-preserving performance decrease, but are still better than those of the other three methods.

	SSIM	FSIM	SSIM	FSIM	SSIM	FSIM
	Balloons		Peppers		Strawberry	
BM3D	0.998542	0.978311	0.996566	0.981545	0.997571	0.984121
Bilateral filtering	0.998941	0.966502	0.997325	0.991137	0.996282	0.991402
NL-means	0.473582	0.869075	0.494226	0.827927	0.494187	0.905239
Proposed method	0.999942	0.981393	0.999955	0.953449	0.999837	0.991367
	Lemons		Face		Sushi	
BM3D	0.996783	0.983312	0.996453	0.986901	0.997765	0.939502
Bilateral filtering	0.996973	0.988743	0.995684	0.987443	0.996914	0.980245
NL-means	0.475592	0.902011	0.482508	0.901384	0.453553	0.894366
Proposed method	0.999954	0.991497	0.999947	0.992567	0.999964	0.97443
	Toy		Sponges		Dog	
BM3D	0.997715	0.992900	0.996911	0.987811	0.995634	0.992422
Bilateral filtering	0.997787	0.995375	0.998587	0.978701	0.996533	0.994977
NL-means	0.545068	0.921793	0.475206	0.875805	0.513566	0.916205
Proposed method	0.999950	0.995378	0.999931	0.986685	0.999967	0.995793
	Superballs		Painting		Feathers	
BM3D	0.996944	0.971212	0.996442	0.983921	0.998841	0.988602
Bilateral filtering	0.996863	0.990906	0.997580	0.995128	0.998463	0.994548
NL-means	0.480543	0.909665	0.545358	0.927185	0.526506	0.923356
Proposed method	0.999971	0.988392	0.999890	0.991642	0.999940	0.993679

Table 2. Performance evaluation of the four methods for $\sigma = 20$.

4 Conclusions

In this paper, the NL-means and bilateral filtering methods were combined for image denoising. Compared with the BM3D algorithm and bilateral filtering, the details are more prominent, the picture is clearer, and there is less noise remaining when this method is used. Compared with the results of the NL-means algorithm, the algorithm proposed in this paper has noticeably better results and better denoising performance with respect to subjective visual effect, SSIM, and FSIM.

Acknowledgments. This work was supported by the National Natural Science Foundation of China (Grant Nos. 61370138, 61572077, 61271435, and U1301251) and Beijing Municipal Natural Science Foundation (Grant Nos. 4152017 and 4162027).

References

- Xie, Q., Zhao, Q., Meng, D., et al.: Multispectral images denoising by intrinsic tensor sparsity regularization. In: IEEE Conference on Computer Vision and Pattern Recognition, pp. 1692–1700 (2016)
- Peng, H., Rao, R., Dianat, S.A.: Multispectral image denoising with optimized vector bilateral filter. IEEE Trans. Image Process. 23(1), 264–273 (2014)

- 3. Scheunders, P.: Denoising of multispectral images using wavelet thresholding, vol. 5238 (2003)
- 4. Dabov, K., Foi, A., Katkovnik, V., et al.: Image denoising by sparse 3-D transform-domain collaborative filtering. IEEE Trans. Image Process. **16**(8), 2080–2095 (2007)
- Buades, A., Coll, B., Morel, J.M.: A non-local algorithm for image denoising. In: 2005 IEEE Computer Society Conference on Computer Vision and Pattern Recognition, vol. 2, pp. 60– 65 (2005)
- 6. Xizheng, C.: Image denoising algorithm based on edge preservation. Xidian University (2014)
- Zhang, Z., Wang, W.: An improved bilateral filtering algorithm. J. Image Graph. 14(3), 443– 447 (2009)
- Zhang, H., Tan, J.: Improved bilateral filtering algorithm. J. Hefei Univ. Technol. (Nat. Sci.) (9), 1059–1062 (2014)
- 9. He, J., Li, Y.: An image quality evaluation based on structural similarity. J. Changchun Univ. Sci. Technol. (Nat. Sci. Ed.) (3), 105–108 (2014)
- Miao, Y., Yi, S., He, J., et al.: Feature similarity image quality evaluation based on gradient information. J. Image Graph. 20(6), 749–755 (2015)